
- On Canvas

- 90 n1inutes, 5 questions from Jist of verbatim questions

- Exain window:

- Office hours:

FIN 5372

Friday, 9/17, 6-7:30 pm CST, Zoom

Friday, 9/17, 12:01 am  CST - Sunday, 9/19, 11:59 pm CST, Zoom
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L.B.O. Financing: Example (Acme Co)
-

I 
I 

I SOURCES OF FUNDS 

Excess Cash From Seller's
1 Balance Sheet 
Senior Secured Debt (Based upon
80% AIR and 50% Inventory) 
Senior Unsecured Debt (Based on
2.5 times of 1st yr. Projected Cash
Flow) 
Subordinated Convertible Debt
Total from Sources Other Than
Equity 
Amount of Equity to be Raised
TOTAL 

$ 5,000,000

$ 15,199,000 ($9,876,000 +
5,323,000) 
$ 54,447,500

]

$ 40,000,000
$ 114,646,500

$ 42,203,000
$156,849,500 
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Resulting B/S Liabilities 

LIABILITIES AND 
SHAREHOLDERS EQUITY 
CURRENT LIABILITIES 

Accounts payable 
Accrued expenses 
Revolving credit facility 
Current portion LT DEBT 

Total current liabilities 

LONG TERM DEBT 
Senior Unsecured Debt }LT DEBT 
Subordinated Debt 

Total Long Term Debt 
SHAREHOLDERS' EQUITY 

Common stock 
Additional Paid-in Capital 
Retained Earnings 

Total shareholders' investment 
LIABILITIES & S-H EQUITY 

After Closing 

$ 8,325 
3,848 
15,199 

$ 27,372 

54,448 
40,000 

$ 94,448 

$ 42,203 

42,203 
$ 164 023 

OOK DEBT= 74°/c ! Example courtesy of J. Lehrer, WashU Law 
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Before Closing 

$ 8,325 
3,848 
6,256 

752 
$ 19,181 

$ 21,118 

$ 5,876 
$ 8,121 
$ 31,191 

45,188 
$ 85

:1
487 

,¢ 47% 

1 - '151 '"¼s, 'Af'I-



Resulting B/S Assets 
ASSETS 
CURRENT ASSETS: 

Cash and cash equivalents 
Accounts Receivable, less allowances 
of$420 
Inventories 
Prepaid Expenses 

Total Current Assets 
PROPERTY AND EQUIPMENT: 

Land and land improvements 
Buildings 
Leasehold Improvements 
Fixtures and equipment 
Less-accumulated depreciation 

OTHER ASSETS 
Cash surrender value of life insurance 
Goodwill, net of amortization of $3,560 

Total Other Assets 

Example courtesy of J. Lehrer, WashU Law 

After Closing Before Closing 

$ 

$ 

5,393 $ 
12,345 

10,645 
1

2
272 

29,665 

5,340 
23,948 
2,327 

22,375 
12

2
983 

41,007 
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1645023 $ 

5,393 
12,345 

10,645 
1

2
272 

29,665 

5,340 
23,948 
2,327 

22,375 
12

!
983 

41,007 

575 
14

!
240 

14,815 
85:.487 
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Pre-Merger 
Data 

Net 
Earnings 

Shares 
Outstanding 

I EPS 

Market 
Price/Share 

Acquirer 

$281,500,000 

112,000,000 

�2.51 � 
\ I pf.=

>-
2.2. y I 

$56.25 J

Target 

$62,500,000 

18,750,000 

$3.33 

$62.50 
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Earn Outs: Example 

• Parties agree to:
- Up-front:!2niJ , ,_ � f •rl,',tfJ .,,, CI=- Plus Earn Out - � ••• ,c, " 

..,I Jtff« ,.._f ,1-rlte� pr,•�s � I J_ .L., 
• Earn Out: J.,•(f�r•-.+- M4f'T't,..,,, �

- Last 5 years \No\.-fe.- >---<'l. >--,C.. -#:1. VV°'- -fe..r v..,_ "'-"� 4 z . __ 
G '{�r:-ef-S - Seller receives all profits > $250K (yr #1 ), $SOOK (yr #2) .... 
:�h·th;l $1,250K (yr #5)f - � gets everything below cut off values & all profits after

y� 5 5<0 5e_,lf q_, y 1-'(!_LJl-c'Vfi! 1Af<,,'<1.e_ .,-f W�+e...r- V'--'ttt_�f<._ -{;y- f;:" y.e.1_r5'_

':_7 h,,._; ,:,, C£. " � v.q -fo ( I) l,.e +r� /-IJ1;r ( r� J ,5cf • �;J JI -�II, <?. f h "'< .Je5 �

• What is earn out value for buyer & seller? c 0 ¼,c) ,,� 1.�► J_
h t.-"-1 �1- re.f­

• To bridge valuation gap:
J a 't {j. 

- Buyer valuation (3m) > value of buyer (earn out) payment
- Seller valuation (Sm)< value of seller (earn out) receipts 

-a:; �Yf -1-f-e ,� . ., d,-�l·d � ---/, v:�, � ;;� 11
l'fvQJ,-�(e/b,



Earn Out Example: (Optimistic) Target 
(St.tie.,.) 

Base Year Sales 
Ea mout Period, in Years 

I TARGET I -
$1 0 , 000 + 

5 Year1 Year2 Year3 FYear;l Year� 

Sales $ 11,500 $ 13,225 $ 15,209 $ 17,490 $ 20,114 

Growth Rate 

+--

min 10% 
most likely 15% 
max 20% 

,' f C. d Y,,-e C.. ./-- I 

15% 

-----
Operating Income 

i=-= Profit Margin

t t:l-L f e e11-t.:::i ... J.,$ $ 1,323 $ 
min 5% 
most likely 10% f -

� l 
max 15% 

Ea mout Target 
Annual Earnout Value 

PV (Earnout) 
Discounted@ 

$ at Closing 

5% 

$ 250 $ 
$ 900 $ 

t - -

$ 3,482 

$ 2,000 

10% 

500 $ 
823 $ 

15% 

1,521 $ 

10% 

750 $ 
771 $ 

t 

Valuation Total Payment I $ 5,482 I _ 
- --

15% 15% 

1,749� 

10% 10% 

1,000 $ 1,250 

749 $ 761 

t 

� -- --

i 

I Seller valuation (Sm)< value of seller (earn out) receipts, $5.48m



Earn Out Example: (Skeptical) Ac�uirer 

Base Year Sales 
Earnout Period, in Years 

Sales 

$10,000 
5 

T 

$ 
min 0% 
most likely 5% -t-Growth Rate 

max 10% 
----1------4-------' _ ___,;;____;/ 

Operating Income 
_ T f c o rye_ c,:�

"t t he.1(2_ � h 1.-i.t11. /e;_

�-1 
Profit Margin --

min 0% 

most likely 5% 

max 10% 

BUYER I __ -+--.- _(_B_ttt y�c.�r-=-)--+-------1 
Year 1 + Year 2 Year3 Year4 Years 

10,500 t $ 11,025 I$ 11,576 $ 12,155 $ 12,763 

525 $ 
-_-(ifa -

5% 

551 

5% 

t-

5% 

$ 579 

5% 

5% 

$ 608 

5% 

$ 
. ---

-
5% 

----l 

638 

5% 

J t-- ·1 
Ea mout Target 1

Annual Earnout Value 

, I 7 f. ;..; .,,,_1� lo

l �r(L,+--- , Ff! 2. 3o.r '"'I :$===----=-----
" $ 

250 $ 500 $ 750 

275 +, $ 51 $ 
$ 1,000 $ 1,250 

$ $ 

PV (Earnout) 
Discounted@ 

$ at Closing 

# 3 ""1 b I;\/� r

5% $ 

$ 

Valuation Total Payment 
-----l-

$ 

--

..... '"' 1 t °"' 
--

308 

2,000 

2,308 

✓ Buyer valuation ($3m) > value of buyer (earn out) payment, $2.3m

If so useful, why earn outs are not ubiquitous? 
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AFR 
110% AFR
120% AFR 
130% AFR 

REV. RUL. 2021-7 TABLE 1 

Applicable Federal Rates (AFR) for April 2021 

Period for Compounding 
Annual Semiannual Quarterly Monthly 

Short-term C '°"'I� 4,, 
3 y flt..�

0.12% 0.12% 0.12% 0.12% 
0.13% 0.13% 0.13% 0.13% 
0.14% 0.14% 0.14% 0.14% 
0.16% 0.16% 0.16% 0.16% 

( S--y� IOU .-�-k_)
AFR Cg·:�] 

Mid-term � ( <-<f +o , r�--r-s) 

110% AFR . o 
120% AFR 
130% AFR
150% AFR
175% AFR 

AFR 
110% AFR
120% AFR
130% AFR

1.07% 
1.16% 
1.34%
1.57%

1.98% 
2.18%
2.37%
2.58% 

0.89% 
0.98%
1.07%
1.16% 
1.34%
1.56%

1.97% 
2.17% 
2.36% 
2.56% 

0.89% 
0.98%
1.07%
1.16% 
1.34%
1.56%

1.97% 
2.16%
2.35%
2.55% 

0.89%
0.98%
1.07%
1.16%
1.34%
1.55%

1.96% 
2.16%
2.35%
2.55% 
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Make-up Quiz #4 (Week #4) for FIN 53 72

/ Question #1 (0.5 pts)
In order for an earnout contract to be successful, it is necessa� that: 

✓ A. Buyer's prival valuation exceeds the value of the ea1n out to the buyer
./ B. Seller's privatlvaluation is less than the value to(eller of the earn out
X C. Buyer's private valuation is less than then value of the earnout to the buyer
)( D. Seller's private valuation exceeds the value to seller of the earn out

➔ E.AandB
F.C andD

J Q11estion #2 (0.5 pts)
In a fixed exchange ratio collar, if acquirer's share prices fall or rise beyond a certain point, the 
transaction switches to a fixed exchange ratio. 

A. True
-==, B. False 

/ Question #3 (1 pts)
In the all cash example from the lecture, what will be the new EPS for the combined firm if the 
interest rate on the loan is 0%? 

v A. EPS incre";;'es to $3.07 
B. EPS remains at $2.51
C. EPS decreases to $2.39

/ Question #4 (0.5 pts)
In the slide set example of setting exchange ratios (i.e., ERs), what is the maximally acceptable 
acquiter ER (i.e., ERB) and the minimally acceptable 5 (/( e_r (i.e., ERs) if PEcm1B=14.52 and is the 
deal possible at those ERs? 

A. ERs= 1.17 & ERs= 0.44; yes, the deal is possible
B. ERs= 1.17 & ERs=0.44; no, the deal is not possible
C. ERa=0.33 & ER�= 1; yes, the deal is possible
D. ERe=0.33 & ERs=l; no, the deal is not possible

/ Question #5 (1 pts)
Suppose that in the example from the slide set presenting an example of a leveraged buyout the two 
parties agree that the discount rate is 15% and therefore the enterprise value is $211.911 million. 
What will be the total funds needed at dosing? 

A. $156,849,000
B. $211,911,000
C. $216,911,000

_ D. $221,649,966 
E. None of the above

Question #6 (0.5 pts) X:. 
A transaction is a win-win for buyer and seller if the exchange ratio is set above the minimally 
acceptable a uirer exchange ratio and below the maximally acceptable target exchange ratio? 

True )(_ 
B. False




